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An agent; this a dispute — 5915 X°INT7 7OWK® 5277 JNI1° 5297 KNMGD I
between Rabi Yonoson and Rabi Yashioh as we learnt, etc.

OVERVIEW

The X713 said that the query whether we say 0°9v22 7vnw applies to a m7w or not,'
depends on the np172mn between WX 1 1N M, regarding 2°771 17977.2 Our MBooOIN
discusses the relevance of 0171 to 7°Rw.

n1voIN asks:
= 099739 0YYyaa NYINY A7) 2997 VINRD ON)

And if you will say; how does the X 13 compare 2%9y33 7998 to 29771, that just
like by o>171 a MW is ineffective, the same should be by 0°%v22 72°Xw, but you cannot compare

them -
=999 NY NNPYYAT 1N NYIY 21 KYT HIYUN?Y 229Y NN ‘NYUAT 0w NI4T

For mwx> '3 has some specific w97, which teaches us that by 271 exclusively

the m»w is not like the 7wn, since they do not argue elsewhere; all agree that 732
213 77N, we say 1NN OTR YW mow, so how can we compare 2°9¥22 77°Rw to 2°771?!

nBoIN answers:
= YIN 231957 29N 529057 DIVN DNN NIYNY 5297 NNYLT 91917 Y

And one can say; that the reason of 7wN> '3 there (why he says mbw PR) is
because it is written in the P05 two times the word 77wK (her husband); it states -

- IMYY SOINNY 1399 NYINY MNP NYIN
‘Her husband will substantiate the 771 and her husband will annul’ the 271; the
repetition of the word 7wk comes to exclude his 799 (only the husband can annul but

not the m5w) -
= 93137 995 19¥2 2503 1) NN

! The case is where the lender of the cow sent an agent to work for the borrower with the cow. Do we say that when
his 7w is PRw1 it is just like the 2°9¥2 are PXw1 or not?

2 The issue is whether a husband may make a m>w to annul the 2771 of his wife (like he can) or not. 7wWR> '3
maintains he cannot (and therefore here too a 2w is not considered 0°2¥23 72°)w), while 01 "1 maintains that he
can (so here too a MW is considered °7y22 79°RW).

3 It is not clear why mpoIn writes w7 'oW', indicating that we are not certain which 7wn7 he is using, when the X723
clearly states his w27 from 1379 7w RY WP° AWK, which MvoN cites shortly! Perhaps even though msoin knew the
w7 of 131 11> IwR, nevertheless he was not certain in the question how exactly does he exclude a n*>w based on
this P109. Perhaps it is from the words 111> or 1179°, which we do not find a corresponding 109 by A2°KWw.

4 However by 0°9y22 79°8w we (presumably) do not have such a nw7. See footnote # 3.
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And here too by 0°9v22 717°XW the word 15¥2a is written two times to exclude a m>w;
that only the owner can realize the 75 of D°9¥22 7KXW

nvoIn offers an alternate answer:
$INHYY XD IRPT XN NPD ¥NRWN MYINI oY PYHT DIVN 29I ON

Or you may also say; the reason we exclude a 7°%2 both from 77°Xw and 2°771 is
because the expression of both »9w2 (by 72°kv) and mwsx (by 0°173) indicates to
WX " (even without the duplicity), to mean specifically the 5va or the husband,
but not his mo5w.

SUMMARY
XY and 171 are similar because they both have the duplicity (7w°X ,1°%v2) to
exclude a MW, or alternately the terms 1°%¥2 and 7w°K exclude a m°ow.

THINKING IT OVER

Is the MmoW by 0171 79°RWw similar to the usual cases where we say 78 W MW
mna (like PwITPY PU7), or is it more similar to wWwaw men (like Pn "N Po9N),
where all agree that we do not say 1112 27X Sw MHw?8

7 When the 7n uses the more general term like ¥ X, we can say 113 07X W 1mM>w; however when the 77 specifies
that it is 1"¥2 or AwX; it cannot refer to the m¥5Ww, since he is not the owner, nor the husband.
8 See 10w ALY 'R PR NN
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